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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed : (any ten)

1x10=10
o™ SR e MRIRIR o[ 72019 Ues vl 8
(a) Costing is a technique of cost.

(Fill in the blank with appropriate word)

T I f2Biel (1T LTI GOt I |
(T3 7T N 912 279 )
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(b) Costaccountingis based on | figures.
(Fill in the blank with appropriate word)

TeoAva I fRpiod AN €9 S
IR (CoR[& 3 <UeT) 512 939 1)

(c) Variable cost per unit remains constant.
(State whether the statement is true or

false)
ARTETN 77 &SB! (S1T® GiF AT |
(CIGCh! 3797 (o &7y fe130)

(d) Wages paid to factory supervisor is

overhead.

(State whether the statement is true or

false)

IITIAR SR «Af{eie 3 siiffafie o

Toifze | (CISChT 77 (F &Py [773)
() Re-ordering level = Minimum

consumption x Minimum re-order period.
(State whether the statement is true or

false)
S{AS SN B9 = FION SHATSIS x THOT 741
ot s | (BfeY o7 (7 STy fERD)

(/ Which methods of valuing materials is
suitable in terms of rising prices ?

T eI TS (! @ford AN oIS
=N 2?2
(i) LIFO (f&%)

- (i) FIFO (F%)
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(i) HIFO (&)
(iv) FILO (fF=)

(Select the correct answer)

(713 Teehr qifg Tfeesn)

(g) In which industry process costing is not
used ?

(IO Sewpieat effer3 53 fepisiead stafe g
P ?
(i) Chemical (IFTHF)
(ii) Textiles (IF)
(iii) Cement (BT0)
(iv) Oil refinery (&1 CNERINT)
(Select the correct answer)

(31155 TeaCh! R Blerean)
(h) An abnormal loss is
TreliS wiog Figd
(i) due to the nature of process
Ao IR R
(i) due to the abnormal factors
TFSIRT IR AR
(iiij None of the above two
TARIS JCAIB! 9=
(Select the correct answer)
(G1fo% Teseor AR Bierear)
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(i) Costing provides all of the following
information, except
(Fill in the blank from the following

options)
(i) product costs
(ii) cash forecasts
(iii) inventory value
(iv) cost of goods sold
7 [R50 O] (PINCH! OIS A I A
O G4 ?
() Teoiine I
(i) S A
(i) SES AN T
(iv) T
() Define the term ‘costing’.
T F 5t (e el |

(k) What is idle time ?
SRIAZS AN WA e

() What is meant by cost-plus contract ?
[ WY (631 W & gt 2

(m) Write the meaning of ‘imputed cost’ in
Cost Accounting.

Tesime T fBpivsee SeEiere ras e ol |
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(n) What is meant by Cost Ledger

Accounting ?

G 7Y ST Bpieimet i & o e

(o) Identify the types of Specific Order
Costing :

R0 SN0 73 T2pioieeie ST o e 341
(i) Batch costing

@5 FI5Y A 2piviee
(i) Job costing
I fEpterese
(iii) Process costing
eiferan fzpreies
(iv) Both (i) and (i1)
(i) SR (i) FCAT
(Select the correct answer)
(12 BGIC! FfR Tt aH)
2. Answer the following questions : (any five)
2x5=10
were AN #1@ Ricpiear b4 ©es el ¢

(a) Write any two distinguishing features of
cost unit and cost centre.

X CA11G SN T (WS TSre 757 “iieare (= iey
IGEM
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(b) What is economic order quantity ?

ferdt so sifsme e

(c) State the meaning of overtime.

ol FF T 152

(d) State two features of indirect labour.

ATRF W] b (IPT) SrE I |

(e) State twoimportant features of contract
costing.

{31 T f2pioiR 7oy 2am (R S |

(/ Whatis meant by ‘minimum level’in stock
control ?

TG #{of) Rage YR Freow B’ W & @ e
(g) What is machine hour rate ?

qfEs 01 1 52

(h) What is meant by absorption of
overheads ?

Toifze T oI Wew <62

3. Answer any four of the following questions :
Sx4=20

weTe T PRI el bife619 ol fadll 3

(a) Write five differences between Financial
Accounting and Cost Accounting.

IS 2o/ T2 T T 251019 Tere
At G012 FA |
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(b) Write a short note on ABC analysis of
inventory control.

TS 29 [NEFee ABC Reege siafes goige @
GO o1t |

(c) Black and White manufacture and sell
‘Dirt Buster’. Following details are
available for the year ending on
31/03/2022 :

Black ¥ White @ ‘Dirt Buster’ SV
R [RF I IR 1 31 6 2022 Sif{Fed Sgoie) 749
wisifone [Kagd were a2 ¢

Direct Materials < 12,30,000
UOTF (FOIAIET

Direct Wages 2 8,00,000
AT A

Factory expenses at 25% of prime cost

A A6 2 FTR 25%

Administrative expenses at 20% of
factory cost

BT A6 I FTR 20%

Selling and distribution expenses at
T 300 per unit

R == [Rog9 196 300 T3t &fS (siite
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Opening stock of finished goods

(100 units) at ¥ 2,53,750 and closing
stock of finished goods 80 units. Number
of Dirt Busters sold during the period

1,220 unit at ¥ 4,000 per unit.

SRS TGS #i<F 100 (515 2,53,750 53 Wi
AR TG 24y 80 (1T | AfSTHI (511G 4,000
TFIC 1,220 (9ifb [ = |

Prepare Cost Statement showing cost of
production per unit and profit.

2fS (5157 TeAMS A I == 7S (YRR
@39 77 RIS 2rge =1

(d) Following information relating to a type
of raw material is available :

O RO 4199 (FHINER IR SR woro
LG R

Annual demand T 4,800 unit
= vifzAl

Unit price T 4.80

QIRGI

Ordering cost per order ¥ 8.00

ST I UG HITre

Storage cost 2% per annum

SUY I3 IZR
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Interest rate 10% per annum
I 9

Lead time Half month
Aot mrg s ST

Calculate EOQ and Total Inventory Cost

in respect of the particular material.
3+2=5

G RS @OITR EOQ W= 35 NS #{4)
A 90 |

(e) How is profit of an incomplete contract
ascertained ? Explain.

ST} 33! o131 AIS S Stet SR AR,
|

(f/ Explain the needs for reconciliation of
cost and financial accounts.

Tesfiva T f2oie TR RS fZpior e
SR el I T4 |

(g9 Explain the concept of perpetual
inventory system as a technique of
effective material control.

eI NGO 2{o)) HFFR (FTeT 2p1et B T
) 2o LIFATCOT I I |

(h) Mention five special features of a good
costing system.

@51 37 7 FRo1oael *I= S Siieo! (@i S
41|
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4. Answer any four of the following questions :
10x4=40

weT [Nl AR Rl BIfAoT oes Bt o

(a) What is cost accounting ? Explain the

objectives of cost accounting. 3+7=10

Teoma T Zoiald T 2 Teomy I
fEpiorea] S AN I |

(b) Bishal is employed in a factory. From
the following information, calculate his
earning per day under —

(i) straight piece rate; and

(i) Taylor’s differential piece rate
system. Normal rate per hour
2 90.00. Standard time per unit 60

seconds.

Differentials :

80% of piece rate below standard
120% of piece rate above standard

Production achieved : SO0 units per
day.
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it GBI TS TN IF | 9o 3] O 2])

(o€ AfSimT Tolreia st s —

(i) 96 OR TS; i

(i) Taylor’s I OO Sg¥ F{ A&[O |
Freifiie 21 @fS T61e 90.00 =
Twe Y ofS (9IS 60 (XY
ST 3
Oeg e IR e Q9 o1 80%
8T MANST IR AT I =S 120%
&S 500 (515 &3y B 2 |

(c) Briefly describe two remuneration plans

together with their advantages and

disadvantages. 5+5=10
7o! *ffRfSies sifeamt FRa == skt s
e I 1 |
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(d) A product passes through two processes.

The details are as below :

Ry B 11 eAfFHR e Siows I |
S Rgeoir oers Al = ¢
Processes
afat

W (1)
Units produced 9,300 —
Teriifrs w1 (316
Cost per unit (in ¥) 12 s
afoth (o1i5a 7 (53)
Other materials (in ¥) 30,000 20,000
S (B! T (33)
Labour (in ¥) 80,000 90,000
= (5)
Overheads (in ¥) 40,000 30,000
GeifE® 7 (5)
Normal loss (% in input) 8 10
Freie T (TAMTR o)
Scrap value (% per unit) 10 15
8 (231 T T (&S (siibo 51)
Actual output (in units) 8,700 7,800
2Fe el ((AIlG Zplsre)

Prepare Process I and Process II
accounts. Also ascertain cost per unit

sfera 1 = afera 11 oot o 1 oIl offs

(51153 T Rai=e 4 1 -

4 (Sem-4/CBCS) HC 1/RC (CAC)/G 12



BIKALI COLLEGE LIBRARY
(e) What is material control ? Explain the
purchase procedure to be maintained

under material control system. 2+8=10

AN [FEEe [ 2 AT [Raget Awfoe SpRed 3R]
AT g AT G T |

(f/ What is labour turnover ? What are

various causes of labour turnover ?

Explain in brief. 3+7=10
wfSs o M 2 @i o= [(fon sa &
3 2 ATFCe! A [

(g) Discuss various bases for apportionment

of overheads to cost centres.

T FHE BoiRe I Koo w119 [ien fefemz
SCETHA 3 |

(h) Whatis job costing ? What are the source
documents used in job costing ? Explain

the procedure of job costing. 3+7=10

1 T ol 2 o 37 fRproesae [ &
o1 A IR [ 22 I I BHeiwEeR
e = 10 |
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() Whatis abnormal loss ? State the causes
of abnormal loss. Also explain the
procedure of calculating abnormal loss
in process costing. 2+2+6=10

SRS 0 & 2 G2 5O DIFPTR S T |
«fFa T Boieeae TEeiitE S 519w T
NS PG I |

() The following are the summary of
transactions obtained from the costing
records of Champa Company.

wete [l GHMET RIS 5200l (@eoiNIR

IEQRESCRIRE Rt NG S N ETR

) ()
Direct wages (cash) 30,000
SOF Y (F5)
Indirect wages (cash) 20,000
AT A (F5™) |
Purchases (cash) 40,000
&Y (d5m)
Puchases (credit) | 2,00,000
& (IS)
Stores issued against production order 1,70,000
ST #i3 ST (71 AN e
Works expenses (cash) 40,000
JIIYMA! AP (F5M)
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) ()
Works expenses allocated to jobs 70,000
A WIRTA 1 DI 4R
Administrative expenses 50,000
I <5
Administrative expenses allocated to jobs 34,000
(A1 WA 1 A 2B

Finished goods transferred to warehouse 4,00,000
[Achug e b e IE

You are required to journalise the above
transactions under integral accounting

system. 1x10=10
@IF® AP ERENER TS RoIoF simfoe
il A 4 |
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